Nare: ANSwWwER KEY Date:

Period: Mr. Valentino
B Unit 12 Review Sheet

Test Topics
e Equation of a circle
o Circle Vocabulary

Angles and Arcs of the circle
o Central, Inscribed, Tangent-Chord, Intersecting Chords, Tangent-Tangent, Tangent-Secant, Secant-

Secant, inscribed quadrilaterals

Chord Length

Tangent/Secant Length

Super Circles

uation of a Circle

1. Find the center and radius of the circle.
(x=3)+(r+5°=9

(A) 3.-5). 3 [B] (~3,5) 3 [C] (=5,3): 9 D] (~5,-3); 3
2. Find the center and radius of x*+y* =8x+2y+8 = 0,

@center 4,-1);r=3 R®-Ex "t'JZ'*Z*j =-% [B] center (-4, 1), r=3

[C] center (4,=1);r=9 X*-Bx+E +y2+2ur1=  [D] center (=4, 1), r=9
TEF e+

(x—q‘)’-*£3+|32:q (Lf’-.') r=3
3. What is an equation of the circle with center (—5,4)
and a radius of 77
D (x=5V +(r+4) =14
2) (x=5Y +(yv+4) =49
3) (+5)+(y-4) =14
() (45 +(y-4y =49
4. Find the center and radius of x* + )" +8x=10y+37 = 0.
x T+ %x +-37-!DU + ~27
XL +g rt U +‘32—!03+25= -37 +1b+25
(x4 )24 Cy-8>2 = ¥
u il r"?) f‘:i}
5. What is the equation of the circle passing through the point (6, 5) and centered at (3, -4)?

2
0(: '@1"“-711-(-31"%5 ( <~ %)? =+ L'ﬁ "?-”)7' - qo

A+ Af(6-3y24 (542
= Anr ey



Angles and Arcs of a Circle

L. Asshown in the diagrai below, Zi_? is a diameter 2. In the diagram below of circle O, m2ABC =24,

of circle O, and chord AC 1s drawn,

A
B8 1
o &

QO
B
G
- What is the m£A0C?
1o 12
i 2) 24
If mZBAC = 70, then mAC is 1) gf}
W 4
2) 70
3) 110
Ve PR '*-."‘
3. In the accompanying diagram of circle O, m<A8C = 2x P
and mAC = x +60. Find the value of x. uklZx
P20 2040 [3160  [4] 80 202em xibe |- 2
Ux — »+6D \_\ - “"-.,:'_’:J
Ixz §p ", - L

4. Given the circle at the right with diameter 4B, find x.
[1] 30°  [2] 45° [3] 60° 00°

> Given a circle with the center indicated.
Find x.
[1] 100 3] 50
[2] 80 40

X

6. In the accampammg dlagmm chord CD is parallel

to diameter AB. Itm. 4(’ = 25, what is mZCOD? C . D

q
of &

120° A

L X+ 60



7. Two chords intersect within a circle to form an angle whose
measure 1s 53°. If the intercepted arcs are represented by _/
- 3x+3and 10x - 14, find the measure of larger of these two

arcs. 30
1] 9 2] 13 3] 30 76
3 . [ ]__ [ ] @ 2 x+3 t-ro;r-l__uj_
- Given tangent {C to the circle shown at the right, 26° B T
Find the size of the arc designated by x. y 220, 8
Il] 25 106 =3~
[2] SO n;]p:_r:v
{31 100 )
@ 260
A C
’ Given the two secants shown in the diagram at the 4
ight. find the number of degrees in the angle labeled x.
4_00
{2] 60° U+ 23+&|+ 59 = 340 Sy
3] 80° Gy: 3o
[4] 140° gz Ho

- In the accompanying diagram, PA and PB are

tangents drawn to circle Q. If mZPBA =70, find
110 o

;5_?: LD

12. In the diagram below, quadrilateral ABCD is
mscribed in circle P.

11. In the accompanying diagram of circle O, PC isa
tangent, PB4 s a secant, mAB = 132, and
mCB = 46. Find m<P.

What is mZADC?

132

[0g°



dle

1. In the diagram of circle O below, chord 4B 2. Chords ABand CD intersect at point £ in a circle
intersects chord CD at £, DE = 2x +8, EC = 3, with centerat O. If £ =8, AB =20, and DE = 16,
AE=4x~3 and EB =4. what is the length of CE?

(2x+8)(3) = (HD(Hx"3)
Eri2d= 1bx-12

(8) (1) = (16)( &

g€ = Iéx
24 = 10X x=6
= B cE =6
What is the value of x?
3. Inthe dragram below of circle O, chord AB bisects 4. In the diagram below, circle O has a radius of 3,
chord CD ﬁ_é'.- It AE =8 and BE =9, find the and CE = 2. Diameter AC is perpendicular to
length of C'F 1n simplest radical form. chord BD at E.
A c i e '
friang le
0 B Y ¢ B D ;
o; (82(8) = (%)
D 3
72 = w? 5 5
C
a =72 5 BD= Yt
x = 36N =
62 A
What is the length of BD?
5. In the diagram below of circle O, diameter ABis 6. In the diagram below, diameter AB bisects chord
perpendicular to chord CD at E. 11 A0 = 10 and D at point £ in circle £,
BE =4, find the length of C'E. 5 (2){ 32 % xots
C B c (y = x?
5 Lo = %* ' |
CE=§
Xz nr'-f-D
- fufo B

A 3@ If AE = 2and FB = 17, then the length of CE is



Tangent-Secant Length

In the diagram below, AB, E(_ and AAC are 2. Inthe accompanying diagram, secant AB intersects

1,
~ tangents to ciecle O at points F, £, and D, circle O at D, secant AC intersects circle O at E,

respectively, AF'=6 CD =35, and BE=4. AE=4, AC = 24, and AB = 16. Find AD.
16

What 1s the perimeter of AABC? (> 16 = HOC2W)

16x =
G Ly
k=6

3. In the diagram below, tangent P and secant PBC 4. In the diagram below, secants POR and PST' are
are drawn to circle O from external point P. drawn to a circle from point P

A

’..A-

. /

[ %“’" —
-!-—- e
C B w 4 )C4)

NG / -

~=6
If PB =4 and BC =5, what is the length of PA?

If PR=24, PO =6,and PS = §, determine and
state the length of T,

(2u) (D=8
[HH = & x



Super Circles
L. In the accompanying diagram of circle Q. AE and

FD are chords, AOBG is a diamet is
extended to C, CDE is a secant{AE || #D), and mDG= 20
mﬁ:mﬁ?:nlb_c‘:-::&}:!. L YA I160
PR g MZAEF = 30
3 44> 10
q 9
mzDBG = 40
X= 20
m«DCA = Y40
Yo
mzCOF = |20
C
2. Inthe accompanying diagram of circle O, diameter =
AE is extended through £ to C; tangent CB, chord mAB = |20
AB, and radius OB are drawn; and
mAB:mBE =2:1. Zx+x =140 m2BACs SR
3R = IED
120 B £z 60 meC= 30
e mzABC = |20
30 1268/ 60 3
A o) E C Is AOBC acute, right, obtuse, or equiangular? Why?
F'.SL\+. 2060 "QO
| %0
3. Given: circle O, tangent 7, secant T1.Z, chords mXL= G0
ZX and XL mXL:mLZ :mXPZ = 2:2:5.
meZ= Yo
Z x4 2x+6x= 360
2 T 200-§&b 26
g=84b MEE B0 R = =
oo -
P “EHD muzxT= 140
AR L
msXLT = co
X T
L S,D
=
X K
g0 . lovte fo_
= Ho g to



